NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 11 Exit Ticket

Name Date

The capacities of three cups are shown below.
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Cup A Cup B Cup C
160 mL 280 mL 237 mL

a. Find the total capacity of the three cups.

CupA+CupB+CupC-= ML

160 + 280 + 237 = ML

b. Bill drinks exactly half of Cup B. How many milliliters are left in Cup B?

Cup B divided by 2 = ML

280 divided by 2 = ML
€. Anna drinks 3 cups of tea from Cup A. How much tea does she drink in total?

CupAx 3= ML

160x 3 = ML
OR
150 +160 +160 = ML



